Quiz  Tuwes Apn) 9 9.2-9.4
tXxam
M(zr\ A{)n‘ 22 {"é =<eC
30 0
CHW 3S| % @
6,

e Nowrs T Ao 1

(Zflfm

‘g)@xm 6f‘€d\}co(o\,\J/\

2‘3 Rua S N oS
Threo buws

Ch K O/’° of MO\fI(-S N\ Lxonn




7.5 The Gl Lt Theoremn

]
\..-/
(N

nickel Cyears)

l

fye oF o

Take Candan Sam@U;Sog“ 20 nickels,
ol Cﬂcm\axlrc, Ho gqm())e Mean X

£o/ eu (L Sa\p/\()]{, ,

l
= A\JQ/ﬁxja a\je_ of 30 VML)&,}S

. momd\—g\no\@eo\
. SAmne C&\%ﬂ as +L€ fOPM\OA\\gA

© W ess Spread owl
J“t\l/\/\ bl ()‘096)\/\\4%‘@/\



Cehnl Lot Theorem

ﬁ\

11 e numbey of

eaSule ments 10 N J
Saenple s at beast EOJ“L@““

The seb of all passible
T Valves 1S Y\of/vv/\\\f
&‘(S%&\/\\_Cd\) ‘Hf\,Q E AN
ol Fho (7053\\9\7& 7 valves
N BM\ the SJM{AJ{M
dewakon of He possible
.

L \M\\r@j /S ﬁ -

/(/Lil POV\AL&LJ}‘Q/\ VN AN
J = i SH\/)OQMQ ﬂem‘q)y@/\

n = 07L W\{ASWW{A}LJ )N A/ S&W\Pf-e,

m{[\”o/\_ %@

b —



CQ/\)M%L C»\m'\% TL\Q/D/\@/V\
S\)mw\d\x\'d\ (5& Wi g or wf\d;\\fv

)@, \ ‘ESJ\(\/\&A\[\(,\ \/\/\H/\
Gl danis

We want o oSN mmate Flae
OK\JQf&jQ \f\‘omﬂ oﬂL \/\O/\/\-€\A/O/\$C

Ol@/\@- Jotsjr WES1S Lj @
Car\/\ogv\/\ SLAM"E\
B\/ S@N\W;\ﬂs 50 S\\NAO\,Q/\XYS

W{ A 0\/\4' \l\o S SO/V\QJF\N/\
e ] J

“We are 95, anbided

J\’Ifm)r +LQ oJe/ Ao \/\OU\fJ
OL L\W\NQ/_)C/ Joo  last W@)Q



J/)7) /L” C&W\ogu\/\ SJ\A&Q/K\’/S
5" behvton 1 ad 73 bows.

\

TS MH,&(/( a
957 e-bdeste A e rval
o




Precision U2/ s AC(/&/\//\

(= () #

P/‘C S ?r—cc N-o_
O ol ACWM o T /\(,WASN/
not (recise ot Pr\e(de

o Deoorale 0nd rt Accnrale

We ot dood aCLuray Bf
USyA 6 7N jghm\\f)u O 'S
~Sen Hfﬂ/@ O% +L‘i Pj&)\/‘ A\

e et 3ooci Pre €isiom oy

Clﬂ@o L IR
lots j of wmﬁ




0 1 Ldmg So&m@ﬂ (o donte

"

N vals Lor He Megn

/[/Lr: Wogu\ﬁ\‘&g\ LGN

SL = Sa\m@& WoredN

J = ()opm\m\\\of\ stodard deviafon

S= Somple stondard  deviation
(socq)

Ma ~ \M&)

P\m‘r\lr’ e%kmalﬁ »C//u /(/L% L
G Ldente inYervals are Leter

beldase  We 5«@(&&’ O
O&@Qm()/\‘ﬁjr(, CgLJ\‘dbn(L \t’\/d-



EXammple of a5
GV%WKV&&;AQ%VM \Q/*/U;

\\ T\/\C UN</ Aq e \!—émﬂ)yal\\mm
W davnlown Vieyoe &

N O \/{SWJQA? W AS %M{m
2" aad |[Sec

/UOJ"C‘\‘L\\Q/\) :

Z s a Jar able that s
WJMQ\\7 dlglm\omjredf L,\)‘\H,\

Eﬁ; CMQ%U“+L_S%MMA

AN A 5{\0\/\) -

27NN

N
Ny
T
_2 ©

-+
%QA /H’\Q \JI\\M oL > 5o i

NN\




o flw\h/{ VLt 1St

O O o
> \ \pY‘\Opf\ Af%’a\—
Lok el = O% =0, 0=

Se)z‘id’ &\}DQ#\/{@A
)H\%/ (\em\ ljr@”

T\f\e 2-vValue 15 Sorme Mg
We?)) jmg’ ue 2.



Coddnte Interval Brmula
o= EEEE

Commtﬂ/)JfS;

: N 1S The Sarple Size
(ﬁi ol MeaS e nets 1N aSampLﬁ)

N=>32p Is reéj’/w\(\fﬁk

Con Use 5 Jaskead of
Llovss fon He Gl Lindt Thenss

Cornbderte Level | &

0.90 lo4s
0,95 96
0.9% \Z,BZ/Q

0.499 2.S+0



Ly . Yo shdeks were asked

\/Wou W}mdm H/\,akf SLJ\J{Y/(
tle Werleead Ledoe exan-s.

e mean was 1S, hows
Wit a S#ﬂadq/% devﬁa*@yx
of 6.5 bows. T A

ﬂOZ @«Lﬂ$¢thﬁ@Wm]\&f/u.

2= [.0Y5
L= <]
S= 6.5 [Sred)






